KV20,30 & 45/1 METAL MOTOR HEAD

4

OEG 410 644 020 19

5
” &
:

14

OEG 410 644 290

15

16

33

230V

17OEG 410 644 320

18
19 —OEG 410 644 260

20

21

X
}
J
J
%

&
0
G50
X%
o

&
.‘

X

5
9%
0
X
X

%

%
K
%
&

)
i

22 £

ITEM QTY DESCRIPTION

1 1 KVv20,30 & 45/1 METAL MOTOR HEAD EXHAUST
LOUVRES 230V
1 KVv20,30 & 45/1 METAL MOTOR HEAD EXHAUST

BLOWER 230V
KVv20,30 & 45/1 METAL MOTOR HEAD EXHAUST
BLOWER & OUTLET SOCKET 230V
DIFFUSER
EXHAUST BLOWER
FLIP FLOP HANDLE ASSEMBLY4
AC ROCKER SWITCH BLACK
KV20-45/1 TOP PRESSING INC BLOWER
KV20-45/1 TOP PRESSING INC BLOWER & SOCKET
MOUNTING HOLE
KV20-45/1 TOP PRESSING WITH LOUVRES
EUROPEAN OUTLET SOCKET & HINGED COVER
UK OUTLET SOCKET & HINGED COVER
WIRING LOOM FOR TERMINAL BLOCK/SOCKET/SWITCH
No4 x 3/4" PAN SELF TAP SCREW
TERMINAL BLOCK 3 WAY
TERMINAL BLOCK HOLDER
1100mm SEAL FOR TOP PRESSING WITH
EXHAUST BLOWER
FOAM SILENCING KV20-45/1 TOP
FOAM SILENCING KV20-45 SIDE
PLASTIC MOTOR MOUNTING BRACKET
CLIP FOR THERMAL SWITCH
FILTER/THERMAL SWITCH 230V M1/608
FILTER/THERMAL SWITCH 110V M1B/619

PR CARBON BRUSHES 230V 1,000W DAF & BP

PR CARBON BRUSHES 110V 1,000W DAF & BP
MOTOR DIRECT AIRFLOW 230V 1,000W
MOTOR DIRECT AIRFLOW 110V 1,000W

-

DO WN
[ N I G G|

[ U N N O I N | (. N

30 18

N
N
JEE L L L N (G T G NGt N NI L UL UL UL UK U U (U (L L (I

SUPPLY

20 MOTOR MOUNTING RING MK3
31 21 KV20-45/1 METAL MOTOR PLATE
No10 x 3/4" C/SUNK POZI PLASTITE SCREW
23 DRY VAC ONLY WARNING LABEL
32 24 M4 x 10 PAN POZI SCREW
25 M4 SHAKEPROOF WASHER
26 No6 x 1/2" PAN SELF TAP SCREW
27 CABLE CLAMP INC SCREW & GROMMET
28 CABLE GROMMET
29 CABLE RESTRAINT
* 30 CABLE/PLUG PACK 10M x 0.75mm 3 CORE WITH
UK PLUG
*31 1 CABLE/PLUG PACK 10M x 0.75mm 3 CORE WITH
EURO PLUG
32 1 CABLE/PLUG PACK 10M x 1.5mm 3 CORE WITH
16A 110V PLUG
33 1 EARTH LEAD 270mm
, WHEN FITTED WITH OUTLET SOCKET PLUG PACK
1S 230V 1.5mm
Wiring Diagram
O
TERMINAL OUTLET
BLOCK SOCKET
® ® BROWN
—O  GRN/YL SWITCH O
® ® BROWN
—O= BLUE R
BLUE |, |

%
@
il

TOP
PRESSING

0 :
THERMAL

GRN/YL
SWITCH

REF: 02-2014


CADWS
Schreibmaschinentext
OEG 410 644 000

CADWS
Schreibmaschinentext
OEG 410 644 010

CADWS
Schreibmaschinentext
OEG 410 644 020

CADWS
Schreibmaschinentext
OEG 410 644 310

CADWS
Schreibmaschinentext
OEG 410 644 260

CADWS
Schreibmaschinentext
OEG 410 644 290

CADWS
Schreibmaschinentext
OEG 410 644 320

CADWS
Schreibmaschinentext
OEG 410 644 030




